>
A & 0l & AF 2 E A A
20198 &= =0la LB A JIEISESH sZE
2N s3I
HE: YRS FH B
ool MsH MR 2E (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=& 66,131,154 57,442,017 8,689, 137
= 3,942,060
s 49,431,100
= 12,757,994
2=y 3UY & 12,942,128 13,241,694 A 299,566
= 2,355,841
s 6,376,000
< 4,210,287
AsdE HAA 2= 696,500 0 696,500
MsE A FA 150,000 0 150,000
308 XX EHHSOIA 150,000 0 150,000
10 SII 2 SOICHeHE & X 2 E A I 150,000 0 150,000
Ot s&E AddAs 24 - 29 150,000
AT =g XNJAdH 48 EBIEY dEEY 50,000 0 50,000
207 51 OH & Hl 50,000 0 50,000
01 2284 50,000 0 50,000
Ogel H8 EBEd HEEH 50,000
sZE SsH =4 354,000 0 354,000
308 XX EHSOIA 154,000 0 154,000
01 HIXNHHNBNEES 154,000 0 154,000
OsE0ts 3s24 XN 154,000
403 MtXISHHE X201 & 200,000 0 200,000
01 AXSHMA=2EE 200,000 0 200,000
SENS sss4a N 200,000
SEMES20IS SN TS0 848 XN 132,500 0 132,500
201 Let24d] 20,000 0 20,000
01 At 22/l 20,000 0 20,000
OsENEgs20S 2NH B30t & F 20,000
308 XX EHSOIA 37,500 0 37,500
01 HIXNHHNBNEES 37,500 0 37,500
O E0ts dEE 37,500
403 MtXISHHE X201 E 75,000 0 75,000
01 XM A=2EE 75,000 0 75,000
OZs0S dE = 75,000
SEMEs20E S0ZE 2He 2L 10,000 0 10,000
201 Let24dH] 10,000 0 10,000
01 At 22/l 10,000 0 10,000
SENEs20E SHZE 2HY 22 10,000
sHEHIIB 2= 8,681,500 9,994,000 A 1,312,500




2N
X ZH -
L= B

el

0l oy off
9 o ox
Nz of &

rz 1R

(0¥
2

0

S
1
4 J¢

W g

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
= 1,137,000
Fag 6,376,000
& 1,168,500
A== WY S AEFA 142,000 134,000 8,000
201 LBt 40,000 10,000 30,000
01 AP 22| H| 20,000 10,000 10,000
OLE=sH HHUEA 29 10,000
O H==sgUREYS 29 10,000
03 A2 G HI 20,000 0 20,000
odE sgus AZIY 20,000
202 044 47,000 69,000 A 22,000
01 22Ul 20,000 20,000 0
OAIZHF & 20,000
03 =222 27,000 27,000 0
O=3 A= 27,000
203 € R =& 55,000 55,000 0
03 AIH=X1H 55,000 55,000 0
OsF &MY 55,000
s J|Yo A 200,000 200,000 0
= 100,000
o=} 100,000
307 QI2t0| ™ 200,000 200,000 0
= 100,000
=} 100,000
02 QI2tAMAIE E X 200,000 200,000 0
Osgl D 200,000
= 100,000
& 100,000
AP XA 994,000 1,025,000 A 31,000
2y ¥ B}
= 512,000
= 482,000
307 QI2t0| ™ 994,000 1,025,000 A 31,000
= 512,000
= 482,000
02 12t AFAF 994,000 1,025,000 A 31,000
OB6XFAHS B 994,000
= 512,000
& 482,000
AT 6RO 585,000 1,365,000 A 780,000
2)
= 450,000
&< 135,000




2N
X ZH -
L= B

el

=31
UASY WY Y
SR AE

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 585,000 1,365,000 A 780,000
= 450,000
< 135,000
01 XXM A2E = 585,000 1,365,000 A 780,000
oextatdst X2 H 585,000
= 450,000
< 135,000
ANEctel extate 2435 X2 (X9t WERHID 2 88,500 279,000 A 190,500
= NY)(=1)
= 75,000
< 13,500
308 XIS S0 88,500 0 88,500
= 75,000
< 13,500
01 AXSGHBLAEES 88,500 0 88,500
oXNge HWERIa 5 X 88,500
= 75,000
< 13,500
sEs=gdy 435 XA 35,000 35,000 0
308 XXM SO0l A 35,000 35,000 0
01 AXNSHHBLAEES 35,000 35,000 0
OQSAHH RESIHE &= 35,000
SESSFAY OHHE X2 3 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 QIAFAAFEX 200,000 200,000 0
O=Z8=s&4d OHAHE X335 200,000
SEXNE SEFMLIRNE(2) 4,427,000 5,038,000 A611,000
s 4,372,000
< 55,000
202 Odl 10,000 10,000 0
s 5,000
< 5,000
01 = LH YI 10,000 10,000 0
O=sE4tgs JIEHEIMA 2= 10,000
as 5,000
< 5,000
307 2Izt0l A 40,000 40,000 0
= 20,000
< 20,000
02 QIZtE M AHEE 40,000 40,000 0
O=sZ4tde JIEEIMA 2= 40,000
s 20,000
< 20,000
403 Mt E X201 & 4,377,000 4,988,000 A611,000




2N
X ZH -
L= B

el

=31
UASY WY Y
SR AE

SA BB B (BA) - MM - B Ol &+ o4 SSa HmEET
e 4,347,000
< 30,000
01 HIXSHMA2E X 4,377,000 4,988,000 A 611,000
OMAMIRSIIB, M= - JtE, 66X 4,377,000
s 4,347,000
< 30,000
SEMAFHAL(2D) 2,004,000 1,712,000 292,000
s 2,004,000
403 XIS E X201 E 2,004,000 1,712,000 292,000
s 2,004,000
01 XXM A2E = 2,004,000 1,712,000 292,000
OSELMASHAY 2,004,000
s 2,004,000
sXolg2ae XN 6,000 6,000 0
202 O4dl 6,000 6,000 0
01 = LHA YI 6,000 6,000 0
OsXN&EE 2 3t & dREY 6,000
SEOHXIe &2 2 ea 1,384,480 1,122,016 262,464
= 27,400
< 1,357,080
=3 28 29 66,000 90,000 A 24,000
307 glz2tol & 66,000 90,000 A 24,000
02 It M AMHEE 66,000 90,000 A 24,000
OLRASLUHEDIHEE 16,000
OLsddMOzZNE 20,000
OZdser L 20,000
ond=sgel £ 10,000
esge =4 220,120 99,956 120, 164
202 (4 Hl 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
oO0d=sge 24 gRF2 4,000
308 XX EHSOIA 216,120 95,956 120, 164
01 HIXNHHNBNEES 216,120 95,956 120, 164
OsSEWHEZE0UA 23L2XE 19,800
oOdsgeldy 29 X& 57,000
Od=ge =Jt&<0 XA 19,320
Od=sge HelsHY &3 o 120,000
H&E=gel EXt2H 486,000 360,000 126,000
308 XX EHH SOl A 486,000 360,000 126,000
01 X HHILEXS 486,000 360,000 126,000
Od=gol EXHt*H™ XA 486,000




2N s8I
HE: YRS FH B
SHel: SEIIXGY Ao B s CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
sE&s2 2= N& 84,000 10,500 73,500
308 XAHXIEHSOIA 84,000 10,500 73,500
01 AIXSHMENEX= 84,000 10,500 73,500
O=&52 28 14 84,000
SOl NWMIYE sX2 A& 174,000 228,000 A 54,000
308 XX EHSOIA 174,000 228,000 A 54,000
01 AIKISHHEMNEX= 174,000 228,000 A 54,000
O=gel DWMIIYE sX2 X 174,000
ANEs A XIS 186,000 159,000 27,000
308 NXISHHMSOIA 186,000 159,000 27,000
08 I 20 HstE = 186,000 159,000 27,000
OXE =1 zAH X3 186,000
S=E 2S0l0|ls24dH 29 NH(=21D) 27,400 27,400 0
= 27,400
308 MXISHMSOIA 27,400 27,400 0
= 27,400
01 IXHHINMNEEXTZ 27,400 27,400 0
=& Z2ES0I0l=S4EH 29 X 27,400
= 27,400
NESEO KREHEEXN 2SsAE 140,960 140, 160 800
308 XHXIEHSOIA 140,960 140, 160 800
01 AIXSHMENMNEX= 140,960 140, 160 800
ONE=Y2 RESHEEXN 2SAE 140,960
dE2ESYo |4 2,179,648 2,125,678 53,970
= 1,191,441
& 988,207
2 sHEUHAM 29 30,000 30,000 0
201 LBt 9| 25,000 25,000 0
03 A2 E H| 25,000 25,000 0
OsHEUAM 29 25,000
307 212t0| & 5,000 5,000 0
04 CIZ2tSHALALS B X 5,000 5,000 0
O=EEdA=E HAE S 5,000
SO 4 101,500 110,500 A9,000
202 044l 3,000 3,000 0
01 2L I 3,000 3,000 0
OsocH sS4 ALE 3,000
307 giztol A 98,500 107,500 A 9,000
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FN: s3I
e

X{ XH -
S =

H?: =g =& 2F 243 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HsHE 2435 =& 352,250 261,800 90,450

308 AHAIEHHSOIA 352,250 261,800 90,450
01 HXNHHBHELS 352,250 261,800 90,450
OA=sQ X 352,250
SN sERX KNIAAG(ZH) 140,000 140,000 0
307 glz2tol & 140,000 140,000 0
02 LIt HAMHEE 140,000 140,000 0
OEANMY sERX X 140,000
SN sERX NAAMNZ)(=1) 252,000 360,000 108,000
= 210,000
< 42,000
308 XXM SOIA 252,000 360,000 A 108,000
= 210,000
< 42,000
01 AXHHIYEES 252,000 360,000 108,000
OZAB sE%"X K& 252,000
= 210,000
< 42,000
Hselo & XN (=21) 19,500 0 19,500
= 15,000
< 4,500
308 XX EHHSOIA 19,500 0 19,500
= 15,000
< 4,500
01 HXNHHNBHELS 19,500 0 19,500
oO#Hs0le & XA 19,500
= 15,000
< 4,500
SE3SHEA =AY N (X SHH)(=1) 165,000 165,000 0
s 150,000
< 15,000
308 XXM SO0l A 165,000 165,000 0
s 150,000
< 15,000
01 IXNHHBNEES 165,000 165,000 0
OsE=SHaAMN 22A X 165,000
s 150,000
< 15,000
SsE&Y 485t =4 243,200 191,000 52,200
202 odl 10,000 10,000 0
01 =L o4 1l 10,000 10,000 0
OSEBZ s ALEA 10,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 40,000 40,000 0
02 PIZHEHAHEE 40,000 40,000 0

OsZEdE 28 g8 40,000
308 XXM SOIA 193,200 141,000 52,200
01 IXNHHBANEES 193,200 141,000 52,200
OsZENEgs202 HEgss 29 N&E 24,000
Os0EL" 22 XA 126,000
OsZEME d=208 2d X& 43,200

SHEUY AIZSZHE X 1,000,000 0 1,000,000
403 Mt S E X201 E 1,000,000 0 1,000,000
01 X SHHAN2E = 1,000,000 0 1,000,000

O=s0HE0E AMLEZd X3 1,000,000
HEotseld us N2 (g92s)(=1) 30,660 32,910 A2,250
= 30,660
308 XXl EHH SOl A 30,660 32,910 A2,250
= 30,660
01 AXNSHBLELS 30,660 32,910 A2,250
Os=sZENEgs20ls 9&2ds 1= 30,660
= 30,660
2 4356 FAE sE2E X 100,000 0 100,000
403 X SHHS =0l & 100,000 0 100,000
01 HXSHMA2E X 100,000 0 100,000
OszaZ 43 XN 100,000

ANSI s 243 X2 (=21) 42,000 0 42,000
= 42,000

308 XHXI X SO & 42,000 0 42,000
= 42,000

01 AXHHILEES 42,000 0 42,000
OMaH =g 2435 XI& 42,000
= 42,000

sE2F0|e &5 1,621,487 3,602,358 A 1,980,871
2 1,228,559
s 174,000
< 218,928

sEAZFH 4 N (Z2) 1,274,030 1,029,010 245,020
= 1,068,330
< 205,700

308 Xt Xl &AM S0 & 1,274,030 1,029,010 245,020
= 1,068,330
< 205,700

01 AXHHILEXS 1,274,030 1,029,010 245,020




2N
X ZH -
L= B
el

sT
Z2EsENY 2435
SE22I|E =HF

SN HB .9 (3 A 0 AF o ﬁlf& HD=2

O=s=l&gs 1,088,740
2 895,840
= 192,900
OsHE2E A 41,490
= 41,490
oXNYgH? == 76,800
2 64,000
12,800
O=s=wsgdH 67,000
= 67,000

sz 4 X 72,090 ,262 N3, 172
= 72,090

307 QI2t0| ™ 5,000 ,000 0
= 5,000

02 DIZtZAAMEE X 5,000 ,000 0
O=s=MEsdits 5,000
= 5,000

308 AXISHAMSOIH 67,090 ,262 N3, 172
= 67,090

01 AIXIHHB A2 67,090 ,262 N3, 172
O=s=EMEasdits & el 67,090
= 67,090

HAABMA=(=21) 33,367 ,686 17,681
2 30,139
= 3,228

308 XX S M SO0l & 33,367 ,686 17,681
2 30,139
& 3,228

01 IIXSHHEAME 33,367 ,686 17,681
(OF: RS ESES] 33,367
= 30,139
& 3,228

SENASSAMASK D (S 174,000 0 174,000
s 174,000

403 XIS H S0l & 174,000 0 174,000
= 174,000

01 XX SHA K22 174,000 0 174,000
sSENH=E 174,000
s 174,000

s==H N (ZES0t 10,000 0 10,000

308 AXISHMSOIH 10,000 0 10,000

01 AIXIHMB AL 10,000 0 10,000
OsE=H 1 10,000

SESHM K& 58,000 0 58,000




2N s3I
Hu: dAsENY 2s
SR SEBIIY 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 58,000
308 XXM SO A 58,000 0 58,000
= 58,000
01 HIXNHHBNEES 58,000 0 58,000
Os&E=H N& 58,000
= 58,000
sEXNSG e 49,158,100 39,381,100 9,777,000
= 60,000
s 42,731,100
< 6,367,000
JIgE MsE Dtse S0l 6,297,000 6,407,000 A 110,000
201 LBt 27,000 27,000 0
01 At 22l 17,000 17,000 0
Ozt 29 & =0t A& 17,000
03 &AL S HI 10,000 10,000 0
OJIEE Ms&E AHE3 10,000
202 o4dl 15,000 15,000 0
01 = LH o4 1l 15,000 15,000 0
OJ1g8d MsZE IS =& 15,000
403 A X EHS =0l A 6,255,000 6,340,000 285,000
01 X SHHX2E = 6,255,000 6,340,000 85,000
OJIgE MsE OS2l 3,375,000
OL0ts 2&H X& 2,880,000
sEXNGNYE 29 10,000 10,000 0
201 LBt 10,000 10,000 0
01 At 22l 8l 10,000 10,000 0
OsZXNYMEAMY U2 2Y 10,000
Fo=E 02 s)| N (sE8EEY)(=1) 156,100 156, 100 0
s 156,100
308 XXIEHH SOl A 156,100 156, 100 0
s 156,100
01 AXHHILEES 156,100 156,100 0
OFUFST NISUE) NA(==81HELY 156,100
s 156,100
FOUFE 0IS2UE) NA(sEELHSNIALMH) (=2 120,000 120,000 0
)
= 60,000
< 60,000
307 21201 A 120,000 120,000 0
= 60,000
< 60,000
02 LAFAAFEX 120,000 120,000 0




2N s3I
My AAsENY s
Sl SEXY H CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OF2UFE NtSsUsSI (=843 X dH) 120,000
= 60,000
< 60,000
SESHUNELEH(HEZNR)(=Z2) 3,766,000 2,377,000 1,389,000
s 3,766,000
403 UtXISHH S0l & 3,766,000 2,377,000 1,389,000
s 3,766,000
01 AXSHMA=2EE 3,766,000 2,377,000 1,389,000
OsEsAXgds (4R F) 3,766,000
s 3,766,000
sESHNELsH(LBNF)(Z2) 21,187,000 13,991,000 7,196,000
s 21,187,000
403 A X EHHS =0l A 21,187,000 13,991,000 7,196,000
s 21,187,000
01 X EHHMA=E L 21,187,000 13,991,000 7,196,000
O=ESAXNEHH (LU F) 21,187,000
s 21,187,000
A TENL(ALAHATEMNL)(21) 3,817,000 4,455,000 A 638,000
s 3,817,000
403 HXSHHSA=0l& 3,817,000 4,455,000 A 638,000
s 3,817,000
01 X SHMA2E X 3,817,000 4,455,000 A 638,000
OFXZHOISAUSI (HALASE ML) 3,817,000
s 3,817,000
ANzgg2ds(=21) 663,000 770,000 A 107,000
as 663,000
308 XXM SO A 663,000 770,000 A 107,000
s 663,000
01 IXNSHHBMNEES 663,000 770,000 A 107,000
OANzZHE st 663,000
s 663,000
NG (AZE)(21) 1,002,000 1,199,000 A 197,000
s 1,002,000
403 A X EHS =0l A 1,002,000 1,199,000 A 197,000
s 1,002,000
01 X SHHX2E= 1,002,000 1,199,000 A 197,000
OANZAZH(AlZ &) 1,002,000
as 1,002,000
NZSS(FZXIGAS)(21) 118,000 338,000 A 220,000
s 118,000
403 UHXSHHSA=0l& 118,000 338,000 A 220,000
s 118,000
01 HXSHMA2E X 118,000 338,000 A 220,000




FN: s3I
e

My AAsENY s
Sel sEX Y Y EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

OANZESH(HZXAALY) 118,000
rag 118,000

=& NESE ZHAANY(2D) 2,940,000 0 2,940,000
Rag 2,940,000

403 XX S S X201 A 2,940,000 0 2,940,000
fag 2,940,000

01 MXHHE2BE = 2,940,000 0 2,940,000
OsE&E g™ EHA 2,940,000
hag 2,940,000

IZMENEKRHE(Z21D) 527,000 0 527,000
hag 527,000

403 MR SHHMS K201 527,000 0 527,000
rag 527,000

01 MHXHXMAHEE = 527,000 0 527,000
OJ=MEHE=RY 527,000
rag 527,000

OISSHEJI(EEME)(=21D) 2,738,000 0 2,738,000
= 2,738,000

403 XX S S K201 A 2,738,000 0 2,738,000
hag 2,738,000

01 HXHNMAHEBEE = 2,738,000 0 2,738,000
onIs=H/AsE M 1,768,000
rag 1,768,000
ONISHEI(ZSEIHY) 970,000
hag 970,000

OISESI (M) (2 10) 5,607,000 0 5,607,000
hag 5,607,000

403 XtXISHH S K201 5,607,000 0 5,607,000
hag 5,607,000

01 AXHXMAEE = 5,607,000 0 5,607,000
OlISs=HABs2I =X 1,467,000
Rag 1,467,000
onsdAZMHELS) 269,000
rag 269,000
OntScHstA (FZME) 2,049,000
fag 2,049,000
OLISCHEI (AESBH) 1,822,000
hag 1,822,000

SEUSEF (=) 210,000 0 210,000
rag 210,000

403 XX S M S K201 A 210,000 0 210,000
Rag 210,000

01 AIXISHM A28 X 210,000 0 210,000
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